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Problem One. ( 16 points )
Lurie Company made the following cash expenditures during the year :

(a) Paid $100,000 for interest capitalized as part of a self-construction project.
(b) Paid $225,000 for interest that was expensed during the year.

(c) Paid $300,000 for R&D expenditure that were immediately expensed.

(d) Paid $400,000 to acquire new machinery.

Indicate where 1n the statement of cash flow each of the preceding items would be reflected. Lurie uses
the INDIRECT method of reporting cash flow from operations.

Problem Two. ( 16 points )

Hardy Enterprises purchased 30% of the outstanding stock of Holloway Inc. on January 2, 1993 by
paying $240,000. On that date, the fair value of Holloway s net assets equaled their book value with the
exception of equipment with a book value of $40,000 and a fair value of 30,000. The equipment and a
remaining useful life of 5 years. No goodwill is associated with this purchase. Holloway reported net
income for 1993 of $60,000 and paid dividends of $12,000.

Prepare the journal entries for 1993 on Hardy’ s books using the equity method.
Problem Three. ( 15 points )
The stockholders”  equity section of Jessie Corp. is presented below.

Common stock, $20 par value, authorized 1,000,000 shares, issued and outstanding 400,000

SNATES ©.vvevevevieevereee ettt $ 8,000,000

Additional paid-In CaPILal ....cvevvvevevererererereeeee e 2,400,000
Retained @arnings.....ceeveveverererereiriisiserestse et s sesesesenas 10,800,000
Total StOCKNOIAETS'  EQUILY.cvveeeeeeeeee e e eeee et eeetee et eeeeeses e $ 21,200,000

Complete the table below to depict the number of shares of stock and balances in the stockholders’
equity accounts after each of the following transactions. Each situation is to be considered independently
of the others.

(a) 15% stock dividend, market value $25 per share.
(b) 2-for-1 stock split.
(c) 100% stock dividend, market value $25 per share.



Outstanding Share
Common Stock
Additional Paid-In Capital
Retained Earnings
Total Stockholders' Equity
(a)

(b)

(©)

Problem Four. ( 16 points )

The following pretax amounts pertain to the National Corp. for the year ended December 31, 1993.

Sales ......................................................... $ 400’000
Operaﬁng CXPEIISES *# v v rrrrrrrrsrrreesnneeaeutecasneeanns 84,000
Extraordinary gain .......................................... . 30’000
Interest CXPEIISE “rvreerrrsrreessereeessneeeaauneeiineees 4’000

COSt Of gOOdS SOld .......................................... . 280,000
Gain on Sale Of CQUipment ................................. . 10,000
Prior periOd adjustment .................................... . (15’000)
Gain on disposal of business segment «« -« -xereeeeeee .. 40,000
Cumulative effect of change in accounting principle ««+««+--: (24,000)
Retained Camings, 11793 coceevenrnnrnninniniiiiinicnnenss 1,600’000
Dividends declared scesreereeresrerrereereerasianianinenne. 12’000

The effective corporate tax rate 1s 30%. The company had 10,000 shares of common stock outstanding for
the entire year.

Prepare a multiple-step income statement in good from for the year ended December 31, 1993.( 10 points )
Prepare a statement of retained earnings in good form for the year ended December 31, 1993. ( 6 points )
Problem Five. ( 15 points )

On January 2, 1992, Clark Products, Inc. sold an apartment building that cost $1,800,000 and had a book
value of $810,000. Clark received a two year, non-interest-bearing note with a face value of $1,935,000
and a due date of December 31, 1993. The fair value of the apartment building at the date of sale could
not be determined. The current rate of interest for comparable notes was 14%.



Prepare the journal entries for Clark Products, Inc. to record :

The apartment building sale. ( 5 points )

The adjusting entries at December 31, 1992 and 1993, for interest earned. ( 5 points )
Settlement of note at maturity. ( 5 points )

Problem Six. ( 22 points )

Effective January 1, 1970, Crysler Corporation changed its inventory valuation from a LIFO (last-in,
first-out) to a FLEO(first-in, first-out) cost basis. Accordingly, the 1969 financial statements have been
restated resulting in an increase in Net Earnings of $10.2 million. As a result of adopting FIFO in 1970,
the net loss reported is less than it would have been on a LIFO basis by approximately $20.0 million, or
$0.40 a share. Inventory amounts at December 31, 1969 and 1970 are stated higher by approximately
$110.0 million and $150.0 million, respectively, than they would have been had the LIFO method been
continued.

For United States income tax purposes the adjustment to inventory amounts will be taken into taxable
income ratably over 20 years commencing January 1, 1971.

Sales of Chrysler Corporation and consolidated subsidiaries throughout the world in 1970 totaled $7.0
billion, compared with net earnings of $99.0 million or $2.09 a share in 19609.

REQUIRED

Approximate the cost to Chrysler of changing from LIFO to FIFO. ( 5 points )
Indicate how the switch to FIFO affected the following : ( 12 points )

current ratio

debt / equity

cash flow

gross profit

Speculate on reasons why Chrysler made the change from LIFO to FIFO. ( 5 points )
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